meat about 25 years feathers two

insects about 5 years scales

s feathers two

1. Which statement is false?

O A. Geese and owls have the same body covering.

gs than horses.

2. Which statement is true?
O A. Trout can live longer than owls.
O B. Owls and geese eat the same thing.
O C. Trout eat flies and other bugs.

O D. Geese have more legs than owls.
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5. Which verp goes in the blank to make a correct sentence in the present tense?

O |AL have
O M. has
OB had
Op®. hadn’t
6. Complete this analogy: tall
O Ahajiort
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8. Here’s the first part of a story:
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